
• 11 ∈ B

•

(∃y) yp = x ←→
∧

b∈B\{11}

λb(x) = 0
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• [L : Lp] < ℵo

•

X =
∑

b′∈B′

xpn

b′ b′

• B′ basis for L/Lpn
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• L = Fp(t)

• B = {1, t, t2, . . . , tp−1}

•
∂

∂t

(∑
λi(x)pti

)
=

∑
iλi(x)pti−1
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• X ⊆ Ln ∞-defined over K ⊆ L for K “small”

• TrDeg(X) := supa∈X

{
TrDegK

(
K

(
λ~b(a) |~b is tuple from B

))}
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L
φt- L if φt is seperable
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0 ≤ H ≤ φ#
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φ# α- Ga(k)
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∀n ∈ N ∃λn ∈ L× λ−1
n φλn ∈ Lpn

{τ}
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L

fin. gen. K Lp∞

Kp∞ = Falg

p
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M

K L

K ∩ L

If K and L are algebraically independent over K ∩ L then:

(K, +,×, (K ∩ L)) � (M,+,×, (L))
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•

A
φ- K{τ}

@
@

@
@R

A
A
A
A
A
A
A
A
A
A

φ

U

Fq[[ε]]{τ}

Fq{τ}
?

•
∑

xiε
i - ∑

xq
i ε

i
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